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2 Find the root of theequation xe* =2, usingRegula-falsi method.
OR
3 From the following table values of x and y =tanx interpolate values of

(Electronics and Communication Engineering)

(Answer all the Questions 5 x 2 = 10 Marks)
Write the formula to find a cube root of a number by Newton Raphson’s

(AUTONOMOUS)

B.Tech Il Year | Semester Supplementary Examinations June-2024
MATHEMATICS-III

(Answer all Five Units 5 x 10 = 50 Marks)

¥ whenx =0.12 and x = 0.28.

PART-A

write the standard five-point formula.
Find L{r*+3¢+10}.

Define the inverse fourier sine and cosine transforms.
Solve p(1+¢q)=gz.

PART-B

[o~r-1

X

0.10

0.15

0.20

0.25

0.30

Y

0.1003

0.1511

0.2027

0.2553

0.3093

obtained with exact solution.

|UNIT—II
4 Using Taylor’s series method find an approximate value of y at x = (.2
for the D.E y'—2y=3e", y(0) = 0. Compare the numerical solution

given the boundary values as follows:

a Show that J.t’e“" sin2¢dt = SITIO , UsingLaplace transform.

2 2
b Find L"‘{—log(sz-i_a2
2 s*+b

OR
5 Evaluate the function u(x,y) satisfying V’u =0 at the pivotal points
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x(0)=1, x(%):l.

If F(p) is the complex Fourier transform of f{x), then prove that the

Solve the D.E +9x =sint, using Laplace transform given that

complex Fourier transform of f{x) cos ax is %[F ( p+ a) +F(p- a)] 5

Find the Fourier cosine transform of ™ cos ax,a>0
OR

—ax
Find the Fourier sine and cosine transforms of flx) = eT and deduce
sinsx dx = tan™?! (5) —tan~?! (5)
a b

UNIT-V
Solve x(y—z)p+y(z—x)qg=z(x-y). .

Solve x*(y—2z)p+y*(z—x)q = z2*(x—y).
OR
A tightly stretched string of length / with fixed ends is initially in
equilibrium position. It is set vibrating by giving each point a velocity
bsin3 (llx-) Find the displacement y(x, ).
E END L
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